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application

• If you have a normal function (a -> b), you can put it in
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apply it to a value (a) in a context (F a) to get another
context (F b)



Monads

• Functors represent context

• That implement maps that lift normal functions (of type
a -> b) to functions over context (of type F a -> F b)

• Applicative functors represent contexts that support function
application

• If you have a normal function (a -> b), you can put it in
a context (F (a -> b)), and apply it to a context (F a)
to get another context (F b)

• Monads represent contexts that can be joined together

• If you have a context in another context (F (F a)), you
can join the two contexts into one (F a)


